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7�UNL\H� &XPKXUL\HW� 0HUNH]� %DQNDVÕ� WDUDIÕQGDQ� GH÷LúLN� WDULKOHUGH� \DSÕODQ�

GX\XUXODUGD��X\JXODQPDNWD�RODQ�GDOJDOÕ�NXU� UHMLPLQGH��G|YL]�NXUXQXQ�SL\DVDODUGD�DU]�YH�
WDOHS� NRúXOODUÕ� WDUDIÕQGDQ� EHOLUOHQGL÷L�� G|YL]� NXUXQGDNL� R\QDNOÕ÷ÕQ�0HUNH]� %DQNDVÕ¶QFD�
\DNÕQGDQ� WDNLS� HGLOPHNWH� ROGX÷X� YH� NXUODUGD� KHU� LNL� \|QGH� ROXúDELOHFHN� DúÕUÕ� R\QDNOÕN�
GXUXPXQGD� GR÷UXGDQ� P�GDKDOH� HGLOHELOHFH÷L� NDPXR\XQD� DoÕNODQPÕúWÕU�� %X� oHUoHYHGH��
G|YL]�NXUODUÕQGD�\DúDQDQ�DúÕUÕ�R\QDNOÕN��]HULQH����2FDN������WDULKLQGH�G|YL]�SL\DVDVÕQD�
DOÕP�\|Q�QGH�GR÷UXGDQ�P�GDKDOHGH�EXOXQXOPXúWXU��

6RQ� J�QOHUGH�� |]HOOLNOH�hONHPL]� HNRQRPLVLQH� LOLúNLQ� ROXPOX� EHNOHQWLOHULQ� DUWDUDN�
GHYDP� HWPHVLQH� ED÷OÕ� RODUDN� J|]OHQHQ� G|YL]� VDWÕúODUÕ�� G|YL]� NXUODUÕQGD� DúÕUÕ� R\QDNOÕN�
\DúDQPDVÕQD� QHGHQ� ROPXú�� EX� R\QDNOÕ÷Õ� HQJHOOHPHN� �]HUH�� EXJ�Q�0HUNH]� %DQNDVÕ¶QFD�
G|YL]�SL\DVDVÕQD�DOÕP�\|Q�QGH�GR÷UXGDQ�P�GDKDOH�HGLOPLúWLU���
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